


Биологический диктант
•Травянистые.

• Кожица.

•Чечевички.

•Луб.

•Ситовидные. 

•Древесина.

• Годичные кольца.

Критерии 
оценивания
Без ошибок – «5»

1-2 ошибки – «4»

3-4 ошибки – «3»

5 и более ошибок – 
«2» 





Видоизменение 
побегов



Тест
•Вариант 1   1 – В   2 – Б   3 – В   4 – А   5 – Г   

•Вариант 2   1 – Г   2 – В   3 – Г  4 – Б    5 – В

Критерии оценивания
Без ошибок – «5»

1 ошибка – «4»

2 ошибки – «3»

 3 и более ошибок – «2» 





П. 10.

•Выполнить презентацию 

•«Растения имеющие клубни»

•«Растения имеющие 
луковицу»

•«Растения имеющие 
корневище». (по выбору)

Домашнее задание


